Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Auay. revealing of identification, appeal to evaluator and /or equations wriiten eg, 42+8
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Note: 1. Answer any THREFE full questions from Q.No.1 to Q.No.6. ,-,\_:__z‘x.
2. Question No. 7 & 8 are compulsory. o 7
sl
With the formulae, explain what working capital leverage is. '\103 Marks)
Explain the various sources of working capital. . V(07 Marks)
Define Merger, Explain the various types of mergers of motives behind h\mér'ger. {10 Marks)

What is concentration banking? < . (03 Marks)
The annual cash requirement of A Ltd is T 10 lakh. The compan as{ﬁlarketable securities
in lot sizes of ¥ 50,000, ¥ 100,000, T 2,00,000, T 2,50,000 and $:60,000. Cost of
conversion of marketable security per lot is T 1,000. The comgfaity caw earn 5% yield on
securities, you are required to prepare a table indicating \@c lot size will have to be sold
by the company. Also show the economic lot size to febtained by Baumol model.
=y (07 Marks)
The following results are expected by xyz Ltd by"quaters next year in thousand of rupees.
A0

Particulars 1 2 3 4
Sales o
Cash pagments : — " 7500 | 10,500 | 18,000 | 10,500
Production cost : S 17,0001(10,000 8,000 | 8,500
Selling, administrative and ot.flcr"b‘(')rsts 1,000 [ 2,000 | 2,900 { 1,600
Purchase of plants and oth_e.tiﬁx‘éd assets | 100 | 1,100 | 2,100 | 2,100

e
The debtors at the en oﬁ‘ie quarter are '4" of sales for the quarter. The opening balance of
debtors is ¥ 30,00,99@; Cash on hand at the beginning of the year is T 5,00,000. Borrowings
are made at the ﬁégi}nning of quarters in which multiplies of T 10,000 and are repaid at the
end of quartt__:@@t'erest charges may be ignored. You are required to prepare i) Cash Budget
by quarters-{ar'the year. ii) State loan outstanding at the end of the year. (10 Marks)

Deﬁfme-jﬁ:\‘? A and explain its components. (03 Marks)
Wha't":ire stock dividends and stock splits. Explain their rationale. (07 Marks)

. lji'é‘f'me industrial sickness. Explain the causes and symptoms of sickness. (10 Marks)

" What is an ageing schedule. (03 Marks)

The financial manager of firm is wondering whether credit should be granted to a new
customer who expected to make repeat purchase on the basis of credit evaluation. The
financial manager feels that the probability that the customer will pay 0.70 and probability
that customer will default is 0.30. Once the customer pays for the first purchase, the
probability that he will pay for the repeat purchase will be 0.90. The revenue from the sales
will be T 2,00,000 of the cost of sale will be 160,000 — these figures apply to both initial and
repeat purchases. What is the expected pay off if the credit is granted? (07 Marks)
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Rakesh enterprise is currently providing 30 days credit to its customers. Its present sales are
¥ 200 million. Its cost of capital is 12% of the ratio of variable cost to sales is 0.80. Rakesh
enterprise is considering extending its credit period to 45 days which is likely to push sales
up by ¥ 60 million. The bad debt proportion on additional sales would be 15%. The tax rate

is 33%. What will be effect of lengthening the credit period as residual income of the firm.
(10 Marks)

What is ROI — ROE analysis? (03 Marks)
Precision Engg factory consumer 50,000 units of component per year. The. ordermg,
receiving and handling costs are ¥ 3 per order while tracking cost are ¥ 12 per. order; Further
details are as follows : deterioration and obsolescence cost ¥ 0.004 per unit per year ; interest
cost ¥ 0.06 per unit per year ; storage cost ¥ 1000 per year for 50,000 umts CaICulate EOQ.
N (07 Marks)
From the details given below, calculate ; i
i) Reordering level i) Minimum level iii) Maximum level wf Danger level. Reorder
quantity is to be calculated on the basis on the following :- '- o
cost of placing a purchase orders is ¥ 20 No. of units to, be purchased during the year is
5,000 purchased price per unit inclusive of transportathn\cost is ¥ 50. Annural cost of
storage per unit is ¥ 5 Details of lead time: Average 10 .ddys ; maximum 15 days minimum —
6 days. For emergency purchase 4 days. Rae of conkumptlon Average : 15 units per day
maximum : 20 units per day. R (10 Marks)
How is EFR computed? S (03 Marks)
In engineering company has a cost of equ1ty capital of 10%. It earns 18% return an
investment. The companys earnin 10 per share. According to Walters model what
should be the price of shares at 2 ‘%&wdend payout ratio? Is it optimal ratio. If not what is
the market price at optimal ratlo (07 Marks)
R company belongs to a risk whose capitalization rate is 10%. It currently has 1,00,000
shares selling at ¥ 100. The ¥jitm is contemplating the declaration of ¥ 6 dividend at the cnd
of the year. Answer th o1 owing questions based on MM model on the assumption that
taxes does not exist )Q‘summg that the firm has net income of ¥ 10,00,000 and also pay
dividends. It makes 'S&CStments of ¥ 20 lakhs during the period. How many new shares must
be issued. _ {10 Marks)
\

Define agé”ﬁby cost/problem and explain why firms incur them. How can it be reduced?
{05 Marks)

What is the cost of trade for credit terms “ 2/ . net 45”. (05 Marks)

15
' ‘f.In “cons1der1ng the most desirable capital structure of a company, the following estimates of
~the cost of debt and equity capital (after tax) have been made at various levels of debt -

. " equity mix:

Debt as % of Total | Cost of debt (%) | Cost of equity (%)
Capital employed

0 5.1 12.0

10 5.0 12.0

20 5.0 12.5

30 5.5 13.0

40 6.0 14.0

50 6.5 16.0

60 7.0 20.0
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You are required to calculate/determine optimal debt equity minimum by calculating
composite cost of capital. (10 Marks)

Compulsory
A company currents operating income is T 4 lakhs. The firm has ¥ 10 lakhs of 10% debg‘ P,

outstanding. Its cost of equity capital is estimated to be 15%. .
i) Determine the current value of the firm using traditional approach. P ":»’: i
ii) Calculate overall capitalisation rate as well as leverage ratio “’m‘

1) B/S 2) B/V  3) The firm is considering increasing its leverage by r Qg an
additional ¥ 500,000 debt and using the proceeds to retire that amount of e%;mty As aresult
of increased financial risk Ki is likely to go up to 12% and Ke is 18% wb & you
recommend the plan. (15 Marks)

Give a critical approaisal of Modigliani —~ Muller approach to caplta.l structure theory.
{05 Marks)



